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QUESTION 1

Universal Container (CU) has brought in a business analyst to help implement an expensive AppExchange product in its
Salesforce org to optimize the sales pipeline. The BA is free to speak to anyone at UC to gather the information they
need to ensure success. The BA decides to speak to the stakeholders who are most impacted.

Which key stakeholder should the BA speak to first?

A. VP of sales

B. Sales Users

C. IT leaders

Correct Answer: A

QUESTION 2

A project is in the user acceptance testing phase of a Sales Cloud implementation at Universal Containers. The
business analyst (BA) is coordinating the test case execution and supporting the testers. One of the testers fails a test
case because they were unable to see a custom field identified in the directions. The BA has reviewed the details of the
failed test case and compared the expected outcome to the requirements.

What should the BA do next?

A. Assign the test case to another tester.

B. Assign a bug to the development team.

C. Attempt to reproduce the issue.

Correct Answer: B

QUESTION 3

A business analyst is working with a new customer on a Sales Cloud implementation. The executive sponsor for the
project is new to the company and their role as VP. The sponsor has inherited functional requirements from the previous
VP that were gathered 9 months ago. The project start date has yet to be defined. The sponsor wants to use the
inherited requirements in lieu of a traditional discovery process.

What is the largest risk with this approach?

A. The previous VP\\'s requirements fail to meet current formatting standards.

B. The previous VP\\'s requirements may differ from those of the new executive.

C. The previous VP\\'s requirements are outside of the Salesforce framework.

Correct Answer: A
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QUESTION 4

The business analyst (BA) at Cloud Kicks is managing a project to build a recruiting app for the management and
human resources (HR) teams. The HR director wants the app to help the team navigate the hiring process more
efficiently. The BA designs a Stakeholder Wheel to better understand all of the people with an interest m the project.
Which level of influence should the BA place the MR Director on the stakeholder wheel?

A. The Sponsor

B. The Enterprise

C. The project

Correct Answer: C

QUESTION 5

Which Information should the BA gather during the initial discovery meeting?
A. Employee review cycle for the support team

B. Limitations of the current support process

C. A Contact information for key stakeholders

Correct Answer: B

CERTIFIED-BUSINESS- CERTIFIED-BUSINESS- CERTIFIED-BUSINESS-
ANALYST VCE Dumps ANALYST Practice Test  ANALYST Exam Questions

CERTIFIED-BUSINESS-ANALYST VCE Dumps | CERTIFIED-BUSINESS-ANALYST Practice Test | CERBIFBED-
BUSINESS-ANALYST Exam Questions


https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html
http://www.tcpdf.org
https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html
https://www.pass4itsure.com/certified-business-analyst.html

